
Задание № 1 
Умножьте:
36
78
88
100
300
Разделите с 
остатком:
2 (ост.1)
1 (ост.1)
2 (ост. 3)
Задание №2
Ответ: 60см

Задание № 1 
Умножьте:
38
84
66
80
500
Разделите с 
остатком:
2 (ост.2)
1 (ост.1)
2 (ост. 3)
Задание №2
Ответ: 48см

 Задание № 1 
Умножьте:
34
72
99
120
700
Разделите с 
остатком:
2 (ост.1)
1 (ост. 2)
2 (ост. 1)
Задание №2
Ответ: 360см

1 команда     2  команда 3 команда
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2,  8, 18, 22, 24, 45, 64, 72, 80

У М  Н   О   Ж   Е  Н    И   Е



1 вариант 2 вариант

846:2=423 380:5=76

112:4=28 891:9=99

152:4=38 100:5=20



Слышал краем уха.

Шевелил мозгами.

 Считал ворон.


